Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 01/17/2017

Engineer: 1901

Contract H74CN09

Bidder: 2391

Firm Name: JACOBS ENGINEERING GROUP INC.

CMS-BM-003

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL **STATION**

Firm Name:

Mccourt Construction Co. Inc

				En	ngineer	В	idder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0120.459	BUILDING CONDITION SURVEY	LS	1	\$126,669.00	\$126,669.00	\$45,000.00	\$45,000.00	(\$81,669.00)	(\$81,669.00)
0130.130	CONSTRUCT PASSENGER STATION FACILITIES	LS	1	\$14,440,272.00	\$14,440,272.00	\$12,606,850.00	\$12,606,850.00	(\$1,833,422.00)	(\$1,833,422.00)
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00	\$0.00	\$0.00
0130.439	BUSING	AN	1	\$1,925,000.00	\$1,925,000.00	\$1,925,000.00	\$1,925,000.00	\$0.00	\$0.00
0211.471	PROTECTION OF UTILITIES	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0211.495	SITE UTILITIES	AN	1	\$79,000.00	\$79,000.00	\$79,000.00	\$79,000.00	\$0.00	\$0.00
0213.202	RODENT CONTROL	AN	1	\$71,000.00	\$71,000.00	\$71,000.00	\$71,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$243,000.00	\$243,000.00	\$243,000.00	\$243,000.00	\$0.00	\$0.00
0222.006	UNCLASSIFIED EXCAVATION	LS	1	\$403,670.00	\$403,670.00	\$15,000.00	\$15,000.00	(\$388,670.00)	(\$388,670.00)

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 01/17/2017

2391

Engineer: 1901

Firm Name: JACOBS ENGINEERING GROUP INC.

Contract H74CN09

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL

STATION

Bidder: Firm Name:

Mccourt Construction Co. Inc

				E	ingineer	I	Bidder	V	ariance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.108	ROCK EXCAVATION	CY	400	\$61.50	\$24,600.00	\$0.01	\$4.00	(\$61.49)	(\$24,596.00)
0235.001	OBSTRUCTION EXCAVATION FOR CAISSONS	LF	40	\$362.00	\$14,480.00	\$1.00	\$40.00	(\$361.00)	(\$14,440.00)
0235.213	ROCK-SOCKETED CAISSONS	LF	171	\$603.00	\$103,113.00	\$2,000.00	\$342,000.00	\$1,397.00	\$238,887.00
0235.240	CAISSONS 4' DIAMETER	LF	96	\$2,482.00	\$238,272.00	\$950.00	\$91,200.00	(\$1,532.00)	(\$147,072.00)
0290.005	RAILROAD WORK	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
1651.130	TRAFFIC SIGNAL	LS	1	\$280,303.00	\$280,303.00	\$175,000.00	\$175,000.00	(\$105,303.00)	(\$105,303.00)
6500.000	RISK ALLOWANCE	RA	1	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$0.00	\$0.00
	Total Esti	mate Co	ontract Base	Bid:	\$19,329,379.00		\$16,973,094.00		(\$2,356,285.00)
	Contract Total - E	Base Bio	d and Alterna	tes:	\$19,329,379.00		\$16,973,094.00		(\$2,356,285.00)

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

Bidder:

01/17/2017

1160

Engineer: 1901

Firm Name: JACOBS ENGINEERING GROUP INC.

Contract H74CN09

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL

Firm Name:

Barletta Heavy Division, Inc.

STATION

				En	ngineer	В	idder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0120.459	BUILDING CONDITION SURVEY	LS	1	\$126,669.00	\$126,669.00	\$35,000.00	\$35,000.00	(\$91,669.00)	(\$91,669.00)
0130.130	CONSTRUCT PASSENGER STATION FACILITIES	LS	1	\$14,440,272.00	\$14,440,272.00	\$13,117,849.00	\$13,117,849.00	(\$1,322,423.00)	(\$1,322,423.00)
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00	\$0.00	\$0.00
0130.439	BUSING	AN	1	\$1,925,000.00	\$1,925,000.00	\$1,925,000.00	\$1,925,000.00	\$0.00	\$0.00
0211.471	PROTECTION OF UTILITIES	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0211.495	SITE UTILITIES	AN	1	\$79,000.00	\$79,000.00	\$79,000.00	\$79,000.00	\$0.00	\$0.00
0213.202	RODENT CONTROL	AN	1	\$71,000.00	\$71,000.00	\$71,000.00	\$71,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$243,000.00	\$243,000.00	\$243,000.00	\$243,000.00	\$0.00	\$0.00
0222.006	UNCLASSIFIED EXCAVATION	LS	1	\$403,670.00	\$403,670.00	\$1.00	\$1.00	(\$403,669.00)	(\$403,669.00)

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

01/17/2017

1160

Engineer: 1901

Bidder:

Firm Name:

Firm Name: JACOBS ENGINEERING GROUP INC.

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL **STATION**

Contract H74CN09

Barletta Heavy Division, Inc.

				E	ngineer		Bidder	Variance		
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
0222.108	ROCK EXCAVATION	CY	400	\$61.50	\$24,600.00	\$1.00	\$400.00	(\$60.50)	(\$24,200.00)	
0235.001	OBSTRUCTION EXCAVATION FOR CAISSONS	LF	40	\$362.00	\$14,480.00	\$1,000.00	\$40,000.00	\$638.00	\$25,520.00	
0235.213	ROCK-SOCKETED CAISSONS	LF	171	\$603.00	\$103,113.00	\$2,010.00	\$343,710.00	\$1,407.00	\$240,597.00	
0235.240	CAISSONS 4' DIAMETER	LF	96	\$2,482.00	\$238,272.00	\$865.00	\$83,040.00	(\$1,617.00)	(\$155,232.00)	
0290.005	RAILROAD WORK	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00	
1651.130	TRAFFIC SIGNAL	LS	1	\$280,303.00	\$280,303.00	\$180,000.00	\$180,000.00	(\$100,303.00)	(\$100,303.00)	
6500.000	RISK ALLOWANCE	RA	1	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$0.00	\$0.00	
	Total Esti	mate Co	ntract Base	Bid:	\$19,329,379.00		\$17,498,000.00		(\$1,831,379.00)	
	Contract Total - I	Base Bid	I and Alterna	tes:	\$19,329,379.00		\$17,498,000.00		(\$1,831,379.00)	

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 01/17/2017

Engineer: 1901

CMS-BM-003

Contract H74CN09

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL

Bidder:

2269

Firm Name: JACOBS ENGINEERING GROUP INC.

Lm Heavy Civil Construction, Llc Firm Name: **STATION**

				En	gineer	В	idder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0120.459	BUILDING CONDITION SURVEY	LS	1	\$126,669.00	\$126,669.00	\$50,000.00	\$50,000.00	(\$76,669.00)	(\$76,669.00)
0130.130	CONSTRUCT PASSENGER STATION FACILITIES	LS	1	\$14,440,272.00	\$14,440,272.00	\$13,834,120.00	\$13,834,120.00	(\$606,152.00)	(\$606,152.00)
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00	\$0.00	\$0.00
0130.439	BUSING	AN	1	\$1,925,000.00	\$1,925,000.00	\$1,925,000.00	\$1,925,000.00	\$0.00	\$0.00
0211.471	PROTECTION OF UTILITIES	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0211.495	SITE UTILITIES	AN	1	\$79,000.00	\$79,000.00	\$79,000.00	\$79,000.00	\$0.00	\$0.00
0213.202	RODENT CONTROL	AN	1	\$71,000.00	\$71,000.00	\$71,000.00	\$71,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$243,000.00	\$243,000.00	\$243,000.00	\$243,000.00	\$0.00	\$0.00
0222.006	UNCLASSIFIED EXCAVATION	LS	1	\$403,670.00	\$403,670.00	\$15,000.00	\$15,000.00	(\$388,670.00)	(\$388,670.00)

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

01/17/2017

Engineer: 1901

Firm Name: JACOBS ENGINEERING GROUP INC.

Contract H74CN09

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL

STATION

Bidder: 2269

Lm Heavy Civil Construction, Llc Firm Name:

-			E	ngineer		Bidder	Va	riance	
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.108	ROCK EXCAVATION	CY	400	\$61.50	\$24,600.00	\$176.00	\$70,400.00	\$114.50	\$45,800.00
0235.001	OBSTRUCTION EXCAVATION FOR CAISSONS	LF	40	\$362.00	\$14,480.00	\$211.00	\$8,440.00	(\$151.00)	(\$6,040.00)
0235.213	ROCK-SOCKETED CAISSONS	LF	171	\$603.00	\$103,113.00	\$2,460.00	\$420,660.00	\$1,857.00	\$317,547.00
0235.240	CAISSONS 4' DIAMETER	LF	96	\$2,482.00	\$238,272.00	\$1,102.00	\$105,792.00	(\$1,380.00)	(\$132,480.00)
0290.005	RAILROAD WORK	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
1651.130	TRAFFIC SIGNAL	LS	1	\$280,303.00	\$280,303.00	\$164,588.00	\$164,588.00	(\$115,715.00)	(\$115,715.00)
6500.000	RISK ALLOWANCE	RA	1	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$0.00	\$0.00
	Total Esti	mate Co	ntract Base	Bid:	\$19,329,379.00		\$18,367,000.00		(\$962,379.00)
	Contract Total - I	Base Bio	l and Alterna	tes:	\$19,329,379.00		\$18,367,000.00		(\$962,379.00)

Massachusetts Bay Transportation Authority

STATION

Capital Management System

Comparison of Bids

Bid Date:

01/17/2017

2565

Engineer: 1901

CMS-BM-003

Firm Name: JACOBS ENGINEERING GROUP INC.

Contract H74CN09

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL

Bidder:

Firm Name:

P. GIOIOSO & SONS INC.

				Er	ngineer	В	idder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0120.459	BUILDING CONDITION SURVEY	LS	1	\$126,669.00	\$126,669.00	\$200,000.00	\$200,000.00	\$73,331.00	\$73,331.00
0130.130	CONSTRUCT PASSENGER STATION FACILITIES	LS	1	\$14,440,272.00	\$14,440,272.00	\$13,800,000.00	\$13,800,000.00	(\$640,272.00)	(\$640,272.00)
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00	\$0.00	\$0.00
0130.439	BUSING	AN	1	\$1,925,000.00	\$1,925,000.00	\$1,925,000.00	\$1,925,000.00	\$0.00	\$0.00
0211.471	PROTECTION OF UTILITIES	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0211.495	SITE UTILITIES	AN	1	\$79,000.00	\$79,000.00	\$79,000.00	\$79,000.00	\$0.00	\$0.00
0213.202	RODENT CONTROL	AN	1	\$71,000.00	\$71,000.00	\$71,000.00	\$71,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$243,000.00	\$243,000.00	\$243,000.00	\$243,000.00	\$0.00	\$0.00
0222.006	UNCLASSIFIED EXCAVATION	LS	1	\$403,670.00	\$403,670.00	\$200,000.00	\$200,000.00	(\$203,670.00)	(\$203,670.00)

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

Bidder:

01/17/2017

2565

Engineer: 1901

Firm Name: JACOBS ENGINEERING GROUP INC.

Contract H74CN09

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL

STATION

Firm Name:

P. GIOIOSO & SONS INC.

			_	E	ingineer		Bidder	Va	ariance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.108	ROCK EXCAVATION	CY	400	\$61.50	\$24,600.00	\$300.00	\$120,000.00	\$238.50	\$95,400.00
0235.001	OBSTRUCTION EXCAVATION FOR CAISSONS	LF	40	\$362.00	\$14,480.00	\$1,500.00	\$60,000.00	\$1,138.00	\$45,520.00
0235.213	ROCK-SOCKETED CAISSONS	LF	171	\$603.00	\$103,113.00	\$1,500.00	\$256,500.00	\$897.00	\$153,387.00
0235.240	CAISSONS 4' DIAMETER	LF	96	\$2,482.00	\$238,272.00	\$2,000.00	\$192,000.00	(\$482.00)	(\$46,272.00)
0290.005	RAILROAD WORK	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
1651.130	TRAFFIC SIGNAL	LS	1	\$280,303.00	\$280,303.00	\$300,000.00	\$300,000.00	\$19,697.00	\$19,697.00
6500.000	RISK ALLOWANCE	RA	1	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$0.00	\$0.00
	Total Esti	mate Co	ntract Base	Bid:	\$19,329,379.00		\$18,826,500.00		(\$502,879.00)
	Contract Total - E	Base Bid	I and Alterna	tes:	\$19,329,379.00		\$18,826,500.00		(\$502,879.00)

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids Contract H74CN09

Bid Date:

01/17/2017

Engineer: 1901

CMS-BM-003

Firm Name: JACOBS ENGINEERING GROUP INC.

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL

STATION

Bidder: 1430

Firm Name: D. W. WHITE CONSTRUCTION INC.

				En	gineer	В	idder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0120.459	BUILDING CONDITION SURVEY	LS	1	\$126,669.00	\$126,669.00	\$100,000.00	\$100,000.00	(\$26,669.00)	(\$26,669.00)
0130.130	CONSTRUCT PASSENGER STATION FACILITIES	LS	1	\$14,440,272.00	\$14,440,272.00	\$14,533,500.00	\$14,533,500.00	\$93,228.00	\$93,228.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00	\$0.00	\$0.00
0130.439	BUSING	AN	1	\$1,925,000.00	\$1,925,000.00	\$1,925,000.00	\$1,925,000.00	\$0.00	\$0.00
0211.471	PROTECTION OF UTILITIES	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0211.495	SITE UTILITIES	AN	1	\$79,000.00	\$79,000.00	\$79,000.00	\$79,000.00	\$0.00	\$0.00
0213.202	RODENT CONTROL	AN	1	\$71,000.00	\$71,000.00	\$71,000.00	\$71,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$243,000.00	\$243,000.00	\$243,000.00	\$243,000.00	\$0.00	\$0.00
0222.006	UNCLASSIFIED EXCAVATION	LS	1	\$403,670.00	\$403,670.00	\$51,000.00	\$51,000.00	(\$352,670.00)	(\$352,670.00)

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

Bidder:

01/17/2017

1430

Engineer: 1901

Firm Name: JACOBS ENGINEERING GROUP INC.

Contract H74CN09

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL

Firm Name:

STATION

D. W. WHITE CONSTRUCTION INC.

-				E	ngineer		Bidder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.108	ROCK EXCAVATION	CY	400	\$61.50	\$24,600.00	\$160.00	\$64,000.00	\$98.50	\$39,400.00
0235.001	OBSTRUCTION EXCAVATION FOR CAISSONS	LF	40	\$362.00	\$14,480.00	\$0.01	\$0.40	(\$361.99)	(\$14,479.60)
0235.213	ROCK-SOCKETED CAISSONS	LF	171	\$603.00	\$103,113.00	\$2,675.00	\$457,425.00	\$2,072.00	\$354,312.00
0235.240	CAISSONS 4' DIAMETER	LF	96	\$2,482.00	\$238,272.00	\$800.00	\$76,800.00	(\$1,682.00)	(\$161,472.00)
0290.005	RAILROAD WORK	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
1651.130	TRAFFIC SIGNAL	LS	1	\$280,303.00	\$280,303.00	\$185,000.00	\$185,000.00	(\$95,303.00)	(\$95,303.00)
6500.000	RISK ALLOWANCE	RA	1	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$0.00	\$0.00
	Total Esti	mate Co	ntract Base	Bid:	\$19,329,379.00		\$19,165,725.40		(\$163,653.60)
	Contract Total - I	Base Bio	l and Alterna	tes:	\$19,329,379.00		\$19,165,725.40		(\$163,653.60)

Massachusetts Bay Transportation Authority

STATION

Capital Management System

Comparison of Bids

Bid Date:

01/17/2017

Engineer: 1901

CMS-BM-003

Contract H74CN09

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL

Bidder: 2880

Firm Name: JACOBS ENGINEERING GROUP INC.

Sps New England, Inc. Firm Name:

				En	ngineer	В	idder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0120.459	BUILDING CONDITION SURVEY	LS	1	\$126,669.00	\$126,669.00	\$150,000.00	\$150,000.00	\$23,331.00	\$23,331.00
0130.130	CONSTRUCT PASSENGER STATION FACILITIES	LS	1	\$14,440,272.00	\$14,440,272.00	\$15,000,000.00	\$15,000,000.00	\$559,728.00	\$559,728.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00	\$0.00	\$0.00
0130.439	BUSING	AN	1	\$1,925,000.00	\$1,925,000.00	\$1,925,000.00	\$1,925,000.00	\$0.00	\$0.00
0211.471	PROTECTION OF UTILITIES	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0211.495	SITE UTILITIES	AN	1	\$79,000.00	\$79,000.00	\$79,000.00	\$79,000.00	\$0.00	\$0.00
0213.202	RODENT CONTROL	AN	1	\$71,000.00	\$71,000.00	\$71,000.00	\$71,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$243,000.00	\$243,000.00	\$243,000.00	\$243,000.00	\$0.00	\$0.00
0222.006	UNCLASSIFIED EXCAVATION	LS	1	\$403,670.00	\$403,670.00	\$250,000.00	\$250,000.00	(\$153,670.00)	(\$153,670.00)

CMS-BM-003

Firm Name: JACOBS ENGINEERING GROUP INC.

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

01/17/2017

Engineer: 1901

Contract H74CN09

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL

STATION

Bidder:

Firm Name:

Sps New England, Inc.

2880

				E	ingineer		Bidder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.108	ROCK EXCAVATION	CY	400	\$61.50	\$24,600.00	\$150.00	\$60,000.00	\$88.50	\$35,400.00
0235.001	OBSTRUCTION EXCAVATION FOR CAISSONS	LF	40	\$362.00	\$14,480.00	\$1,200.00	\$48,000.00	\$838.00	\$33,520.00
0235.213	ROCK-SOCKETED CAISSONS	LF	171	\$603.00	\$103,113.00	\$2,500.00	\$427,500.00	\$1,897.00	\$324,387.00
0235.240	CAISSONS 4' DIAMETER	LF	96	\$2,482.00	\$238,272.00	\$1,750.00	\$168,000.00	(\$732.00)	(\$70,272.00)
0290.005	RAILROAD WORK	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
1651.130	TRAFFIC SIGNAL	LS	1	\$280,303.00	\$280,303.00	\$200,000.00	\$200,000.00	(\$80,303.00)	(\$80,303.00)
6500.000	RISK ALLOWANCE	RA	1	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$0.00	\$0.00
	Total Esti	mate Co	ntract Base	Bid:	\$19,329,379.00		\$20,001,500.00		\$672,121.00
	Contract Total - E	Base Bid	l and Alterna	tes:	\$19,329,379.00		\$20,001,500.00		\$672,121.00

Massachusetts Bay Transportation Authority

Capital Management System

STATION

Comparison of Bids

Bid Date: 01/17/2017

2789

Engineer: 1901

CMS-BM-003

Contract H74CN09

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL

Firm Name:

Bidder:

S & R CORP., FNA STEVEN & ROGER

Firm Name: JACOBS ENGINEERING GROUP INC.

				En	ngineer	В	Bidder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0120.459	BUILDING CONDITION SURVEY	LS	1	\$126,669.00	\$126,669.00	\$33,500.00	\$33,500.00	(\$93,169.00)	(\$93,169.00)
0130.130	CONSTRUCT PASSENGER STATION FACILITIES	LS	1	\$14,440,272.00	\$14,440,272.00	\$16,000,000.00	\$16,000,000.00	\$1,559,728.00	\$1,559,728.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00	\$0.00	\$0.00
0130.439	BUSING	AN	1	\$1,925,000.00	\$1,925,000.00	\$1,925,000.00	\$1,925,000.00	\$0.00	\$0.00
0211.471	PROTECTION OF UTILITIES	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0211.495	SITE UTILITIES	AN	1	\$79,000.00	\$79,000.00	\$79,000.00	\$79,000.00	\$0.00	\$0.00
0213.202	RODENT CONTROL	AN	1	\$71,000.00	\$71,000.00	\$71,000.00	\$71,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$243,000.00	\$243,000.00	\$243,000.00	\$243,000.00	\$0.00	\$0.00
0222.006	UNCLASSIFIED EXCAVATION	LS	1	\$403,670.00	\$403,670.00	\$72,000.00	\$72,000.00	(\$331,670.00)	(\$331,670.00)

Massachusetts Bay Transportation Authority

Quantity

400

40

171

96

1

1

Capital Management System

Comparison of Bids

Bid Date:

01/17/2017

2789

Engineer: 1901

Line Item

0222.108

0235.001

0235.213

0235.240

0290.005

1651.130

6500.000

CMS-BM-003

Description

CAISSONS

ROCK EXCAVATION

OBSTRUCTION EXCAVATION FOR

ROCK-SOCKETED CAISSONS

CAISSONS 4' DIAMETER

RAILROAD WORK

TRAFFIC SIGNAL

RISK ALLOWANCE

Contract H74CN09

Unit

CY

LF

LF

LF

AN

LS

RA

FAIRMOUNT CORRIDOR IMPROVEMENTS

Unit Price

\$61.50

\$362.00

\$603.00

\$2,482.00

\$10,000.00

\$280,303.00

\$1,200,000.00

Bidder: Firm Name:

S & R CORP., FNA STEVEN & ROGER

Firm Name: JACOBS ENGINEERING GROUP INC.

PROJECT BLUE HILL AVENUE COMMUTER RAIL STATION

Engineer

Bidder Variance **Total Price Unit Price Total Price Unit Price Total Price** \$24,600.00 \$210.00 \$84,000.00 \$148.50 \$59,400.00 \$14,480.00 \$850.00 \$34,000.00 \$488.00 \$19,520.00 \$103,113.00 \$2,620.00 \$448,020.00 \$2,017.00 \$344,907.00 \$238,272.00 \$1,100.00 \$105,600.00 (\$1,382.00)(\$132,672.00) \$10,000.00 \$10,000.00 \$10,000.00 \$0.00 \$0.00 \$280,303.00 \$172,000.00 \$172,000.00 (\$108,303.00) (\$108,303.00)

Total Estimate Contract Base Bid:

\$19,329,379.00

\$1,200,000.00

\$1,200,000.00

\$20,647,120.00

\$1,200,000.00

\$1,317,741.00

\$0.00

Contract Total - Base Bid and Alternates:

\$19,329,379.00

\$20,647,120.00

\$1,317,741.00

\$0.00

Date/Time: **Massachusetts Bay Transportation Authority**

> **Capital Management System** CMS-BM-003

> > **Comparison of Bids**

Bid Date: 01/17/2017

Contract H74CN09

Engineer: 1901 Bidder: 2789

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL Firm Name: JACOBS ENGINEERING GROUP INC. Firm Name: S & R CORP., FNA STEVEN & ROGER

STATION

Report ID:

	Engineer	Bidder	Variance
Total Type Basic =	\$19,329,379.00	\$20,647,120.00	(\$1,317,741.00)
Contract Total - Base Bid and Alternates:	\$19,329,379.00	\$20,647,120.00	(\$1,317,741.00)

Date/Time: Massachusetts Bay Transportation Authority

CMS-BM-003 Capital Management System

Comparison of Bids Bid Date: 01/17/2017

Contract H74CN09

Engineer: 1901 FAIRMOUNT CORRIDOR IMPROVEMENTS Bidder: 2880

Firm Name: JACOBS ENGINEERING GROUP INC. PROJECT BLUE HILL AVENUE COMMUTER RAIL Firm Name: Sps New England, Inc.

STATION

Report ID:

 Engineer
 Bidder
 Variance

 Total Type Basic =
 \$19,329,379.00
 \$20,001,500.00
 (\$672,121.00)

 Contract Total - Base Bid and Alternates:
 \$19,329,379.00
 \$20,001,500.00
 (\$672,121.00)

Massachusetts Bay Transportation Authority Date/Time:

> **Capital Management System** CMS-BM-003

Comparison of Bids Bid Date: 01/17/2017

Contract H74CN09

Engineer: 1901 Bidder: 1430

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL Firm Name: JACOBS ENGINEERING GROUP INC. Firm Name: D. W. WHITE CONSTRUCTION INC.

STATION

Report ID:

	Engineer	Bidder	Variance
Total Type Basic =	\$19,329,379.00	\$19,165,725.40	\$163,653.60
Contract Total - Base Bid and Alternates:	\$19,329,379.00	\$19,165,725.40	\$163,653.60

Date/Time: Massachusetts Bay Transportation Authority

CMS-BM-003 Capital Management System

Comparison of Bids Bid Date: 01/17/2017

Contract H74CN09

Engineer: 1901 FAIRMOUNT CORRIDOR IMPROVEMENTS Bidder: 2565

Firm Name: JACOBS ENGINEERING GROUP INC. PROJECT BLUE HILL AVENUE COMMUTER RAIL Firm Name: P. GIOIOSO & SONS INC.

STATION

Report ID:

 Engineer
 Bidder
 Variance

 Total Type Basic =
 \$19,329,379.00
 \$18,826,500.00
 \$502,879.00

 Contract Total - Base Bid and Alternates:
 \$19,329,379.00
 \$18,826,500.00
 \$502,879.00

Date/Time: **Massachusetts Bay Transportation Authority**

Total Type Basic =

Report ID:

CMS-BM-003

Capital Management System

Comparison of Bids Bid Date: 01/17/2017

\$962,379.00

Contract H74CN09

\$18,367,000.00

Engineer: 1901 Bidder: 2269 FAIRMOUNT CORRIDOR IMPROVEMENTS

PROJECT BLUE HILL AVENUE COMMUTER RAIL Firm Name: JACOBS ENGINEERING GROUP INC. Firm Name: Lm Heavy Civil Construction, Llc **STATION**

Engineer Bidder Variance

\$962,379.00 **Contract Total - Base Bid and Alternates:** \$19,329,379.00 \$18,367,000.00

\$19,329,379.00

Massachusetts Bay Transportation Authority Date/Time:

CMS-BM-003

Capital Management System

Bid Date: 01/17/2017 **Comparison of Bids**

Contract H74CN09

Engineer: 1901 Bidder: 1160

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL Barletta Heavy Division, Inc. Firm Name: JACOBS ENGINEERING GROUP INC. Firm Name:

STATION

Report ID:

	Engineer	Bidder	Variance
Total Type Basic =	\$19,329,379.00	\$17,498,000.00	\$1,831,379.00
Contract Total - Base Bid and Alternates:	\$19,329,379.00	\$17,498,000.00	\$1,831,379.00

Massachusetts Bay Transportation Authority Date/Time:

Capital Management System

Bid Date: 01/17/2017 **Comparison of Bids**

Contract H74CN09

Engineer: 1901 Bidder: 2391

FAIRMOUNT CORRIDOR IMPROVEMENTS PROJECT BLUE HILL AVENUE COMMUTER RAIL Firm Name: JACOBS ENGINEERING GROUP INC. Firm Name: Mccourt Construction Co. Inc

STATION

Report ID:

CMS-BM-003

	Engineer	Bidder	Variance
Total Type Basic =	\$19,329,379.00	\$16,973,094.00	\$2,356,285.00
Contract Total - Base Bid and Alternates:	\$19,329,379.00	\$16,973,094.00	\$2,356,285.00